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SN HB - S2(3H) - MEAY - BAS Abol e =2t
0 Z2Z22L=2YHA 9,870
0 HEH| 3,780
0 AIEEHIKXIHI 6,500
0 Xtek& ekl 5,400
03 SAIEHHI 2,000 2,000 0
0 ASHAIKEH 2,000
202 044l 36,240 36,240 0
01 2| 6,000 6,000 0
0 22l 450,000& * 12& 5,400
0 S&EE Ol 50,000& = 128 600
02 SHAHI 30,240 30,240 0
0 88 MAIZSEOAHH 180,000& * 14Y = 12& 30,240
405 KHAHF S HI 4,400 2,500 1,900
01 At =SF SHI 4,400 2,500 1,900
0 A 2 4,400
Mt AL A3 H| 101,000 111,000 A 10,000
FOI=2AAS 101,000 111,000 A 10,000
AR FOU=JAAY 101,000 111,000 A 10,000
401 Al&EHIZL 204 101,000 111,000 A 10,000
01 Al&H| 100,000 110,000 10,000
0 22 =2 ¥ o+A A H|(L=100m) 20,000
0 NEY s2H& L =3 & (L=200m) 20,000
0ME s2Me Y ZE(L=200m) 20,000
0“3 iiﬂg L Hi=2 HY|(ZZ L=170m,
=2 L=40m) 20,000
0 ANHSE S2Z 2 Ui4=2 AHI(L=100m) 20,000
03 Al&20HYI 1,000 1,000 0
0 AT FOU=AAIS AIE2THH| 1,000
HESHAY|(HEH) 31,160 31,160 0
ClEASHY|(M&H) 10,160 10,160 0
olEdy| (M) 10, 160 10, 160 0
203 PR =& 10, 160 10, 160 0
01 JI22HER=8H| 6,600 6,600 0
0 HE 6,600
02 HR3IAH =TI 560 560 0
0 & AP &I EE 40,000& = 14H 560
04 EANSHERE=EH| 3,000 3,000 0
0 EAM2Y 250,000& = 12& 3,000
2F3H(HzH) 21,000 21,000 0
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